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800,000,000& 0. 36% 2,880
< 2,880
0 ARXAS2AAY 20|
956,000,000& *0. 36% 3,442
< 3,442
et X F el At 500,000 1,000,000 A500,000
< 250,000
e 250,000
401 Al HI L 2 THHI 500,000 0 500, 000
< 250,000
s 250,000
01 A& HI 496,400 0 496,400
OEEXNT LA X Eel(A=16.3na)
496,400,000& 496,400
< 246,400
e 250,000
03 Al S THHI 3,600 0 3,600
Ogeta3XEel A 20l
500,000,000& *0.72% 3,600
< 3,600
T =FE LAY 230,000 40,000 190,000
= 115,000
s 115,000
401 A& HIZ 201 I 230,000 40,000 190,000
< 115,000
s 115,000
01 A& HI 230,000 40,000 190,000
OFZFH =54 &X(L=11.5km) 230,000
0 S8 SHARX 2 (L=4.0km) 80,000,000 80,000
< 40,000
e 40,000
0 8% S&XF2(L=1.5km) 30,000,000 30,000
= 15,000
[ia 15,000
0 M=0 BFX| 72 (L=2.5km) 50,000,000 50,000
< 25,000
s 25,000
0 229 & X2 (L=1.5km) 30,000, 000& 30,000
< 15,000
[ia 15,000
0 2EH 2EXF(L=2.0km) 40,000, 000& 40,000
< 20,000
fia 20,000
A2AEFUSJAAY 3,050,332 1,450,000 1,600,332
401 AIEHI L 2 0] 2,880,332 1,350,000 1,530,332
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(o
CEE O (BA) - HRAY - BAS ol &k o8 %@i
01 Al& H| 2,870,000 1,350,000
OzZ2e SHIIBAE SXE 4 (N=7T64HA)
270,000,000 270,000
O%gdaANIS s HeE X (0=208)
300,000,000 300,000
OaAAEXN TR ARSI IHS (HHZ 141
250,000,000 250,000
O0A EsUIEHEH XU EHEAY
200,000,000 200,000
OAtAl A 3|2U0IS CHED| AlYH AN (N=20 A)
100,000, 000& *2H A~ 200,000
Oo=zael 28X o EAH 50,000
0 &) LHEZH 29 30,000,000 30,000
0 £=Al HLUOFMAC 2 (N=2J &)
20,000,000 =14 2~ 20,000
OASE SHSAHINLZ2AHN=14!)
40,000, 000& 40,000
OFEH sg2d MIWHZ2A(N=14!)
20,000,000 20,000
OME 5 160,000
0 ZHOIS sHSUBLZE L ZAF(1A!)
40,000,000 40,000
0 BNEZ 242842 AHL=700m)
70,000,000 70,000
0 FMMAZX B2 WM EAHN=2D])
20,000,000& 20,000
0 MBI E 242 HH| 2 AHL=200m)
30,000,000 30,000
OXedH 120,000
0 2Aa2422 52 " H| 2 AHL=600m)
40,000, 000& 40,000
0 2SI S22 FH| 2 AHL=200m)
30,000,000 30,000
0 ANZEOISE4+2L =2 A H|l 2 AHL=320m)
25,000,000 25,000
0 MdEE2422 =2 AH|Z2AHL=300m)
25,000,000 25,000
OeEH 120,000
0 Y=0tES =2 =20 2 AH(L=100m)
25,000,000 25,000
0 2= slEI242FH| 2 AHL=200m)
30,000,000 30,000
0 =S=stME =2 & H| 2 AHL=100m)
20,000,000 20,000
0 QEE S22 LU 4=2 X d| 2 AH(L=350m)
30,000,000 30,000
0 =0HOt2HH =22 & H| 2 AFH(L=200m)
15,000,000 15,000




2A: A2}
N2 AR
CHe JHEF AL (2 &HH)
(o
CHD B (BH) - MBAY - BAS Ol &F o4 %@i HRE2
OM=x O 140,000
0 E2AFX EIMES=HZAHV=10,000m")
50,000,000 50,000
O HEMMLYZ2AZ X 2| L EEZAFZ2 AFH(N=14A!
) 40,000, 000& 40,000
0 =UHYAZA X Z2AH(N=14A]) 20,000,000 20,000
0 2l E2Hi2=2 & H| 2 AH(L=150m)
30,000,000& 30,000
o=2Md 140,000
0 HEE22™H|2AHL=700m) 30,000,000& 30,000
0 ZDMNABRKNSHELEZAHN=1A])
10,000,000& 10,000
0 =S AHSHH4=2F Hl 2 AH(L=100m)
15,000,000& 15,000
ORNNESSEE AL =242 FHH| 2 AHL=300m)
25,000,000 25,000
0 et 42 HH| 2 AH(L=200m) 30,000,000& 30,000
0 Mol Ss2 & LEZ2AH(N=500H )
15,000,000 15,000
0 =AU SHI4=2 X Hl 2 AH(L=300m)
15,000,000& 15,000
OMHHA 120,000
0 M2 Y2 AHL=200m)
30,000,000& 30,000
0 NYs2UL 242 FH| 2 AHL=200m)
30,000,000 30,000
0 =022 & Hl 2 AH(L=200m)
30,000,000 30,000
0 SENH0IS=2Y 22 F H|l 2 AHL=200m)
30,000,000 30,000
OAHEHAH 160,000
0 SEHME 222 A H| 2 AH(L=200m)
20,000,000 20,000
0 QZ22dMEB2s2 LA Z2AHL=250m)
25,000,000 25,000
0 sHsgUS2H =2 4 X 2 AH(L=300m)
30,000,000 30,000
O LHH===2 =2 - H| 2 AH(L=100m)
25,000,000 25,000
0 A X EE2Hi22 A H| 2 AFHL=200m)
40,000,000 40,000
0 MY AME 2 A2 AHL=200m)
20,000,000 20,000
Octa o 160,000
0 CHE'OFSHH 2= 2 & H| 2 AF(L=400m)
40,000,000 40,000
0 RFEX| T2 HH 22 & H| 2 AFH(L=200m)
35,000,000& 35,000
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= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o e 2
0 YA Eb+= & X3 AHL=300m)
20,000, 000& 20,000
0 2 2/0t2 =Xt =2 & Hl S AH(L=200m)
35,000, 000& 35,000
0 2 AtOt2 = XU =2 & Hl S AH(L=400m)
30,000, 000& 30,000
OdlotH 160,000
0 AX0LSHi4=2 3 Hl 3 AH(L=300m)
30,000,000& 30,000
0 ZototS i 4=2  Hl 3 AH(L=160m)
20,000,000 20,000
0 StEIOFS Ui 4= 2 3 1l 3 AH(L=300m)
25,000,000& 25,000
0 EXH0ISHI =23 I S AH(L=220m)
20,000,000 20,000
0 200t =22 FHl S AH(L=100m)
30,000,000 30,000
0 OFYOtS =22 FHl 3 AH(L=130m)
35,000,000 35,000
(@FJ=|R=a5 120,000
0 DX EZ2E =236l 3 AH(L=350m)
20,000, 000& 20,000
0 FESHASHI =2 F I 3 AH(L=200m)
40,000, 000& 40,000
0 SHEEN+Z22 8 XS AHN=15I L)
15,000, 000& 15,000
O AFHAZ XY L& 22T AHN=14AL)
20,000, 000& 20,000
0 SIS SMEE=3AH(L=25m)  25,000,000& 25,000
ousd 140,000
0 280l2E=2 33 AH(L=100m)
35,000,000& 35,000
0 ==0tStil==2 3 bl 3 A (L=250m)
40,000,000 40,000
0 AFAHIXI B =2 & Bl 3 Ab(L=250m)
30,000,000& 30,000
0 X2 === FHl 2 AH(L=100m)
35,000, 000& 35,000
03 A& 2 THHI 10,332 0 10,332
OLALF0U=RAY (=ZIIEH) 2L
2,870,000,000& *0.36% 10,332
403 UHXSHHSA=0l& 170,000 100,000 70,000
02 S| 2 S0il CHSHCH & A Bl 170,000 100,000 70,000
O3AtZel sHIItAIE 2 XIE 2 (N=1060H 2 )
100,000, 000& 100,000
OSE E420d HHE =B AH(A=200m")
30,000,000& 30,000
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EAN: sS4t
HM: sENWLALE
Sl SENL ALY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ORDNE4=2 822 AH(L=200m) 40,000,000 40,000
SHEZ2SHE L3 XA 20,100 0 20, 100
= 10,050
= 3,000
= 7,050
307 QI2t0| ™ 20,100 0 20,100
= 10,050
=} 3,000
= 7,050
02 Q2AAMNEXS 20,100 0 20,100
OsHE &2y 30 A~ %6,700,000& 20,100
= 10,050
& 3,000
= 7,050
LBISAMAHETINEAIE WU HE =S 40,000 0 40,000
207 SO0 | 40,000 0 40,000
01 | 40,000 0 40,000
OlISHYUASES HYIAIE OB HE =&
20,000,000 20,000
OXSEOOIOICIHAIY OiblAHE =&
20,000,000 20,000
MEES(ss4t1) 2,500,000 0 2,500,000
WEHN K= 2,500,000 0 2,500,000
sHASEDIZ =4 2,500,000 0 2,500,000
701 J|EIS| HE =2 2,500,000 0 2,500,000
01 JIEtSI HE &= 2,500,000 0 2,500,000
020148 sgLAI = ELEIH dA&E=2
2,500,000,000& 2,500,000
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